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QUESTION 1

What does index fragmentation in the Oracle database mean? There are 2 correct answers to this question.
A. The index root block is fractured.

B. The index leaf blocks are spread over several table spaces.

C. Tem smaller the space that is actually used in companson with the total available space, the more fragmented the
index.

Correct Answer: C

QUESTION 2

While you set up an operation mode and work process distribution screen, for which work processes can you increase
the number by 1 without decreasing any others? There are 3 correct answers to this question.

A. Reserved work processes
B. Spool work processes

C. Enqueue work processes
D. Dialog work processes

E. Update work processes

Correct Answer: ADE

QUESTION 3

With which methods is it possible to create users in child systems in the context of active CUA? Choose the correct
answer(s).

A. In the child system with transaction SUO1, Systems tab
B. In the central system with transaction SUO1, Systems tab.
C. In the central system with transaction PFCG

D. In the child system with transaction PFCG

E. In the central system with transaction SUO1, Roles tab

Correct Answer: BE

QUESTION 4
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What are prerequisites if you want to support web scenarios using the HTTP protocol in an AS ABAP-based SAP
system?

There are 2 correct answers to this question.

A. The Internet Communication Manager has to be started.

B. The Logical port has to be defined for the HTTP protocol.
C. The Server port has to be defined for the HTTP protocol.
D. The SAP Web Dispatcher has to be started.

Correct Answer: AC

QUESTION 5

Where does AS Java store its log files (using \WA\" as delimiter of directories)? (Choose correct answer)
A. In the cluster-node-specific directories

B. /usr/saplllj2eel/cluster//log

C. In the instance-specific directories /usr/sap///work

D. In the instance-specific directories /usr/sap///log

E. In the system-wide directory /usr/sap//SYS/global

Correct Answer: A
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